Generator / Hall Comparison

Cross Section Model used in our generator:

do
e = C - (1 + cosb,,,)~5625(1 — cosh,,,)~+955 5852

We do not use s~/ scaling.

We are looking at the pt™ channel only, on a deuterium target.



Comparison of our generator and Hall A results

5.53 GeV beam
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Comparison of our generator and Hall A results

do /dd[nb /sr]

10° ¢

102 ¢

100

3.32 GeV beam

Our Generator

Hall A X

—0.4

—0.2 0 0.2
cos 0oy

0.4




Comparison of our generator and Hall A results

1.61 GeV beam
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